
Siam Tamiya Coming Soon 5-11-2024 sale@tamiya.co.th

ITEM No. DESCRIPTION Old PRICE ORDER

Description01

10305 Mini4 Sliding Damper Springs 70.00

10312 G-18 Gear Yellow *10 70.00

15111 Round Hole Ball Bearing 300.00

15206 2mm Hollow Prop. Shaft 80.00

15234 Hollow P. Shaft for Super X Chassis 60.00

15236 High Speed Counter Gear Set 130.00

15242 FRP Plate for Super X Chassis 80.00

15287 Hex Hole Ball Bearing Set*4 300.00

15297 72mm H. Stainless Steel Shafts 80.00

15317 Power-Dash Motor 170.00

15318 Sprint-Dash Motor 170.00

15373 Roller Angle Adjuster Plate 120.00

15394 FRP Multi Roller Setting Stay 150.00

15398 Double Alu. Rollers (13-12mm) 370.00

15416 60mm Rein. Shafts (Blk *4) 100.00

15418 W Alu Roller w/Ring 13-12mm 400.00

15424 Mini 4WD Portable Pit 1,200.00

15432 SS Gear (SuperXX & SuperII) 110.00

15433 Mach-Dash Motor PRO 170.00

15440 60mm Hollow Stainless Shaft 90.00

15453 Carbon Rein. 8T Pinion *6 60.00

15459 Side Mass Damper Set (AR) 260.00

15463 Mini 4WD Multi Tape 10mm Blue 140.00

15471 HG Sliding Damper Grease Set 180.00

15473 Alu Spacer Set (5 Types) 120.00

15476 MA Chassis Basic Tune Set 400.00

15477 Hyper-Dash 3 Motor 150.00

15490 Side Mass Damper Set (MA) 240.00

15492 Brake Sponge Set 1/2/3mm White 180.00

15495 HG Carb Rein Plt 1.5mm 340.00

15501 Slimline Mass Damper Set 160.00

15503 Winning Bird F Clr Body PC 170.00

15508 St Steel Screw Set 4size 140.00

15512 Brake Sponge Set Mild 1/2/3mm Blu 180.00

94577 8T Plastic Pinion Gear*10 100.00

94690 Mini 4WD 2mm Lock Nut *10 120.00

94768 Bearing Roller Spacer (20pcs.) 100.00

95643 40th HG 19mm Alu BR Roller 280.00

95662 LF Pla Dbl Roller 13-13 Red 80.00

95663 HM Tube Stabilizers ClrBlu 70.00

R/C SPARE PARTS

50197 Snap Pin 90.00

Coming Soon  On   5   November 2024 

1/32 MINI SERIES



Siam Tamiya Coming Soon 5-11-2024 sale@tamiya.co.th

50419 Celica Racing Radial Tire 280.00

50454 Racing Slick Tires *2 290.00

51007 Urethane Bumper M (TT-01, TGS) 130.00

51356 TB-03 06 Spur Gear (64T) 120.00

51356 TB-03 06 Spur Gear (64T) 120.00

51462 TA06 R Diff Case (52T) 110.00

51470 Gear Diff Maint. Parts Set 110.00

51564 TRF419 F Direct Cup *2 310.00

51595 M-07 Concept A Parts Body Mt. 320.00

51694 XV-02 06 Module Spur Gear 70T 90.00

51726 06 Module Pinion Gear (29T) 150.00

22048 XV-02 Slipper Clutch Set 1,800.00

22050 XV-02 Gear Diff 06 Spur (70T) 170.00

22056 XV-02 Alu. Damper Stay Mt 740.00

22065 TT-02 Type-SRX Alu GB Joints 470.00

22066 TT-02 SRX Alu PropJt & SS Cap 330.00

22067 TH 10Spk Whl Whi 24 Offset 0 190.00

42143 4mm Alu. Serrated Nut *4 Blue 220.00

42276 Damper Pliers 1,320.00

42278 TRF Damper L Dia Springs 330.00

42300 W Cardan Shaft (M-Chassis) *2 1,600.00

42323 Sh Ball Nuts for TRF Damper *8 300.00

42354 TRF Big Bore Dampers+ *4 2,400.00

42358 Transmitter Bag 1,560.00

53176 Fric. Damper Grease Hard 260.00

53439 Anti-Wear Grease (3g) 230.00

53471 M-Narrow Wh 5-Spk Wheels (0) 250.00

53506 39mm Light Rear Swing Shaft 670.00

53508 Metal Bearing Lubricating Oil 400.00

53529 3x8mm Titan Socket Screw *5 220.00

53530 3x10mm Titan Socket Screw *5 220.00

53539 φ5.5mm Aluminum Spacer Set 300.00

53569 Clamp Type Alu. Wheel Hub 6mm 750.00

53583 3x6mm Titan Socket Screw *5 200.00

53586 φ4mm Shim Set *10 x 3 types 230.00

53587 φ5mm Shim Set *10 x 3 types 210.00

53630 TRF S. Damper Spring Soft*2 130.00

53631 TRF S. Damper Spring Medium*2 150.00

53632 TRF S. Damper Spring Hard*2 130.00

53665 TT-01 Spur Gear Set (55T/58T) 330.00

53683 UrethaneBumper M Blue/TT01,TGS 150.00

53765 3x6mm Socket Screw / Blue*5 230.00

53766 3x8mm Socket Screw / Blue*5 230.00

53767 3x10mm Socket Screw / Blue*5 230.00

53768 3x12mm Socket Screw / Blue*5 230.00

53772 3x8mm CS Hex Screw / Blue*5 230.00

R/C HOP UP OPTION



Siam Tamiya Coming Soon 5-11-2024 sale@tamiya.co.th

53792 Univ. Shaft (TT-01, TA04) 1,100.00

53806 TT01 Cup Joint for Univ. Shaft 160.00

53914 White Dish Wheel(26mm/Off0)*4 250.00

53960 6-S Wheel w/D.Tire*2(26mm/+2) 530.00

54000 M-Chassis Aluminum Damper Set *4 2,400.00

54023 DB01 F One-Way Pulley(37T) 150.00

54155 3mm Thin Alu. Lock Nut *5 Blu 200.00

54247 3x18mm Alu. Turnbuckle Shaft*2 170.00

54248 3x23mm Alu. Turnbuckle Shaft*2 150.00

54249 3x32mm Alu. Turnbuckle Shaft*2 170.00

54418 Silicone Diff. Oil #500000 650.00

54477 TT-02 Gear Box Jt. Univ. Shaft 360.00

54532 TA06 G Diff Alu. Cup Joint *2 550.00

54549 TT-02 Alu R Upright 2.5° 1,300.00

54558 TT-02 Alu Motor Mount 520.00

54559 TT-02 Low Fric Sus. Ball *4 220.00

54610 Clamp Type Alu. Whl Hub 9mm *2 390.00

54612 TBLM-02S 15.5T 2,500.00

54623 M-Chassis Axle & Ring 340.00

54626 Buggy Driver Figure Set 120.00

54670 GF-01 Alu. Oil Damper *4 1,600.00

54730 TRF Damper Rod Guide Hard *4 110.00

54780 M-07 Concept Alu F SusMount 6° 440.00

54868 OF 5mm Adjusters M *8 130.00

54869 OF 5mm Adjusters L *8 130.00

54871 Rein. V Parts for TRF Dampers 190.00

54879 TRF419 Alu F Direct Cups *2 400.00

54926 TT-02 Lower Deck (Hard/Bla) 210.00

54982 M-08 Rein. C Pts 2deg *2 300.00

54988 Silicone Diff. Oil ＃300000 500.00


